Manuals+ — User Manuals Simplified.

Q PROKORD
PW-400E-90FS

Adjustable Cart
for Displays
#

PROKORD PW-400E-90FS Adjustable Cart for Displays
Instruction Manual

Home » PROKORD » PROKORD PW-400E-90FS Adjustable Cart for Displays Instruction Manual ™

Contents
1 PROKORD PW-400E-90FS Adjustable Cart for
Displays
2 INSTRUCTIONS OF SAFETY AND WARNINGS
3 Hardware
4 Assembling Instruction
5 Documents / Resources
5.1 References

S PROKORD

PROKORD PW-400E-90FS Adjustable Cart for Displays


https://manuals.plus/#content
https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/prokord
https://manuals.plus/prokord/pw-400e-90fs-adjustable-cart-for-displays-manual.pdf
https://manuals.plus/#prokord_pw-400e-90fs_adjustable_cart_for_displays
https://manuals.plus/#instructions_of_safety_and_warnings
https://manuals.plus/#hardware
https://manuals.plus/#assembling_instruction
https://manuals.plus/#documents_resources
https://manuals.plus/#references

IMPORTANT

Failure to read, thoroughly understand, and follow all instructions can result in serious personal injury, damage to
equipment, or voiding of factory warranty.

INSTRUCTIONS OF SAFETY AND WARNINGS

« Make sure that the mounting surface is strong enough to handle a mounted product and equipment.

« DO NOT EXCEED THE MAXIMUM LISTED WEIGHT CAPACITY.

« Always use an assistant or a mechanical lifting device to safely lift and position heavy products.

« Tighten screws firmly, but do not over tighten. Over tightening can cause product damage that greatly reduces
the holding power.

« Keep a clear area and distance from moving parts when using the product.

« Use only as intended. Never stand, hang or climb on the product.

« This product is intended for indoor use only.

« Any attempts to reconstruct the construction aren’t allowed.

« This product may contain small items that could be a choking hazard if swallowed. Keep children away unless
the product is intended for their use and all instructions and manuals are fully reviewed and understood by
them.

« Check that the product is secure and safe to use at regular intervals (at least every three months).

Should you ever have any questions or feel you require help please contact your place of purchase for assistance.

Hardware



7 C (x2) D (x2) E (x1) F (xD) MéEx14 M8x16
h , P
= = T

M-C (x4) M-D (x4)

G (xn H (D) 1D Jom M6x30 Mex3s

] = =

) )

= ) © =)

. / W % = 6 T =

o0 & MeE (x4) MeF (x4)

K (x2) L (x2) M (x4) N (x2) O (x6) P (x12) Q (x6) D8 DI5xDBx5
MBx6 MBx10 M6x14

(ED O mmmmm | [ L@/t; S @

R (x16) S (x8) T (x1) U (x1) V (x1) W (x1) = X (x2) Y (x6) M=G (x4)
M8x25 M8x70 4mm smm 8mm 19mm D6 P15x@8x15

Assembling Instruction




Note: It is normal for the Bushings (L)
to have slight deformation, and it
does not affect the installation.




Note: Keep the side of the Upper Columns (C)
ﬁ7 with mounting holes facing forward.







—

t

L
—

The mount arrives with a
default balance setting.

bl

ff"’ iy
1 ffff
o w

Yo,

Note: Refer the SCALE fo tum
the screws located on the left
and right sides.

You can adjust the spring
tension to match the display
weight by tuming the
screws (bwo located on the
top, two located on the left
and right sides as shown)
using the supplied Allen Keys.

The numbers found on the
scale are for reference.

_ tT-r For 700x400 B00x400 B0Ox500
10 = 800x600 VESA Pattern




l*‘:l
Lt (-* t
1—5-?_5 — ny St
[ X x.hw E‘.‘I_‘[_-:\_}“m_x
e - e, -
eI T e e
~= T~

Note: If the caster can’'t touch the ground, loosen
the lower nut as shown to adjust the caster to
proper position, then tighten the upper nut.

To achieve a perfect balance with display mounted, adjust the spring tension as follows:

Middle Section of Movement

If it is difficult to pull down the display and it

can't stay at the desired position when raised,

turn the two screws located on the top in the "-"
direction. Otherwise, turn them in the "+" direction.

Note: Adjust both screws the same amount of

turns.
@

Upper & Lower Sections of
Movement

If it is difficult to pull down the display during the
upper section of movement and it can't stay at
the desired position when lowered during the
lower section of movement, turn the two screws
located on the left and right sides in the "-"
direction, Otherwise, turn them in the "+" direction,

Note: Adjust both screws the same amount of
turns.




Documents / Resources

PROKORD PW-400E-90FS Adjustable Cart for Displays [pdf] Instruction Manual
400E-90FS, HAW400E-90FS, PW-400E-90FS Adjustable Cart for Displays, PW-400E-90FS, Ad

justable Cart for Displays, Cart for Displays, for Displays

References

» User Manual

Manuals+, Privacy Policy

This website is an independent publication and is neither affiliated with nor endorsed by any of the trademark owners. The "Bluetooth®" word mark and logos are registered trademarks owned by Bluetooth
SIG, Inc. The "Wi-Fi®" word mark and logos are registered trademarks owned by the Wi-Fi Alliance. Any use of these marks on this website does not imply any affiliation with or endorsement.


https://manuals.plus/m/e7f5baba57126b87bdcf36bb6bb17cbda123a7d163ca20b08a35e3e67101ef0a
https://manuals.plus/m/e7f5baba57126b87bdcf36bb6bb17cbda123a7d163ca20b08a35e3e67101ef0a_optim.pdf
https://manual.tools/?p=16246349#MTA0LjI4LjIzNC4xNzg7Ozs7
https://manuals.plus/
https://manuals.plus/privacy-policy

	PROKORD PW-400E-90FS Adjustable Cart for Displays Instruction Manual
	PROKORD PW-400E-90FS Adjustable Cart for Displays
	INSTRUCTIONS OF SAFETY AND WARNINGS
	Hardware
	Assembling Instruction
	Documents / Resources
	References



